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NEW QUESTION 1
Which one of the following lists the five quality criteria for defining Architecture Principles?

A. Rational, Explained, Precise, Stated, Identifiable

B. Comprehensive, Future proof, Short, Concise, Consistent
C. Open, Enabling, Flexible, Agile, Dynamic

D. Stable, Understandable, Complete, Robust, Consistent

Answer: D

NEW QUESTION 2
Which of the following best describes the TOGAF Technical Reference Model?

A. Itis a detailed data model that can be tailored to specific industries

B. It is an example of a Common Systems Architecture

C. It is a fundamental architecture upon which more specific architectures can be based

D. It is a model of application components and application services software, including brokering applications

Answer: C

NEW QUESTION 3
Which of the following TOGAF components was created to enable architects to design architectures addressing Boundaryless Information Flow?

A. The Architecture Repository

B. The Enterprise Continuum

C. The Integrated Information Infrastructure Model
D. The TOGAF Technical Reference Model

Answer: C

NEW QUESTION 4
Complete the sentence. In TOGAF, architecture viewpoints represent

A. observations of the CIO/CTO

B. opinions of the sponsors

C. observations of the architect staff
D. concerns of stakeholders

E. stakeholder requirements

Answer: D

NEW QUESTION 5
What part of the Architecture Repository holds specifications toWwhich architectures must conform?

A. Standards Information Base
B. Enterprise Continuum

C. Governance Log

D. Architecture Landscape

E. Reference Library

Answer: A

NEW QUESTION 6
Which one of the following best describes a primary use of the Architecture Vision document?

A. A checklist for compliance reviews

B. An evaluation tool to select vendors to conduct a proof of concept demonstration
C. A tool for calculating detailed cost estimates

D. A tool for project planning the implementation activities

E. A tool for selling the benefits of the proposed capability to stakeholders

Answer: E

NEW QUESTION 7

What class of architectural information within the Architecture Repository defines processes that support governance of the Architecture Repository?
A. Architecture Capability

B. Architecture Landscape

C. Architecture Metamodel

D. Governance Log

E. Reference Library

Answer: A
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NEW QUESTION 8
In the Solutions Continuum, Which of the following is the correct order of Solutions from most-specific to most-generic?

A. Common Systems, Foundation, Industry, Organization-Specific
B. Organization-Specific, Industry, Foundation, Common Systems
C. Foundation, Common Systems, Industry, Organization-Specific
D. Industry, Foundation, Common Systems, Organization-Specific
E. Organization-Specific, Industry, Common Systems, Foundation

Answer: E

NEW QUESTION 9
Which of the following statements does NOT correctly describe Architecture Principles?

A. They are most effective when they are embraced and used across the organization

B. They are based on enterprise principles

C. They are detailed policies that prescribe behaviors and requirements

D. Even though they may appear generic, they should be tailored to reflect an organization's culture and goals

Answer: C

NEW QUESTION 10
Which one of the following is NOT part of the approach to Phase H — Architecture Change Management?

A. Business Scenarios

B. Capacity Measurement

C. Change Management

D. Measuring Business Growth

Answer: A

NEW QUESTION 10
Complete the sentence. To promote effective architectural activity within the enterprise, TOGAF 9 recommends the establishment of a(n)

A. Enterprise Architecture Capability
B. IT Governing Board

C. Program Management Office

D. Quality Assurance department

E. Service Management department

Answer: A

NEW QUESTION 13
In which ADM phase are the business principles, business goals and strategic drivers first validated?

A. Preliminary Phase

B. Phase A

C. Phase B

D. Phase H

E. Requirements Management Phase

Answer: B

NEW QUESTION 14

According to TOGAF, Which of the following are the architecture domains that are commonly accepted subsets of an overall enterprise architecture?
A. Application, Business, Data, Technology

B. Capability, Segment, Strategic

C. Context, Definition, Governance, Transformation

D. Definition, Realization, Transition, Vision

Answer: A

NEW QUESTION 15

Which of the following describes a key objective of the Technology Architecture Phase?
A. To define the solution architecture needed to support the Application Architecture

B. To define technology components into a set of technology platforms

C. To define the Transition Architectures needed to achieve the Target Architecture

D. To develop a migration plan to deliver incremental capabilities

E. To select a set of technology products that will form the basis of a solution architecture

Answer: B

NEW QUESTION 17
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Which of the following describes the Architecture Vision document?

A. A description of individual change increments showing progression from the baseline to target architecture

B. A detailed schedule for implementation of the target architecture

C. A high level description of the baseline and target architectures

D. A joint agreement between the development team and sponsor on the deliverables and quality of an architecture
E. A set of rules and guidelines to support fulfilling the mission of the organization

Answer: C

NEW QUESTION 20
According to TOGAF, where should architecture governance artifacts be stored?

A. In the Integrated Information Infrastructure Reference Model
B. In the Standards Information Base

C. In the Foundation Architecture

D. In the Architecture Repository

Answer: D

NEW QUESTION 25
Which component within the Architecture Repository holds best practice or template materials that can be used to construct architectures?

A. Architecture Capability
B. Architecture Landscape
C. Architecture Metamodel
D. Governance Log

E. Reference Library

Answer: E

NEW QUESTION 29
Which of the following reasons best describes why the ADM numbering scheme for versioning output is an example and not mandatory?

A. To show the evolution of deliverables

B. To permit adaptation as required

C. To enable use with the Architecture Content Framework
D. To support change management

Answer: B

NEW QUESTION 32
Which one of the following best describes the implications of TOGAF being a generic framework?

A. The organization must utilize an architecture tool in order to tailor the templates for use
B. It must be adapted to satisfy organization specific requirements

C. It can be utilized by most enterprises without further customization

D. It can only be used for enterprise level architecture projects

E. It should only be employed under the supervision of highly trained consultants

Answer: B

NEW QUESTION 37
Complete the sentence. In a gap analysis, a building block that appears in the Target Architecture but does not appear in the Baseline Architecture indicates

A. nonconformant solution building blocks

B. an error has occurred and the architecture must be re-evaluated
C. requirements have not been properly documented

D. functionality that should be eliminated

E. a new function that must be built or procured

Answer: E

NEW QUESTION 39

Which one of the following does TOGAF Part VII recommend in order to implement an Enterprise Architecture Capability?
A. Develop an Architecture Roadmap

B. Populate the Architecture Repository

C. Populate the Enterprise Continuum

D. Use the Architecture Development Method

E. Use the Implementation Governance Phase

Answer: D

NEW QUESTION 44
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According to TOGAF, Which of the following best describes how the Enterprise Continuum is used in organizing and developing an architecture?

A. It is used to coordinate with the other management frameworks in use

B. It is used to describe how an architecture addresses stakeholder concerns
C. Itis used to identify and understand business requirements

D. It is used to provide a system for continuous monitoring

E. It is used to structure re-usable architecture and solution assets

Answer: E

NEW QUESTION 49
Which one of the following is NOT an objective for Phase C, Data Architecture?

A. Defining an architecture that can be understood by the stakeholders

B. Defining an architecture that is complete and consistent

C. Defining an architecture that is stable

D. Defining data entities that are normalized to minimize update anomalies
E. Defining data entities relevant to the enterprise

Answer: D

NEW QUESTION 50
Complete the sentence. The Integrated Information Infrastructure Reference Model (11I-RM) is an example of a (n) Architecture reference model

A. Application
B. Business
C. Data

D. Technology

Answer: A

NEW QUESTION 53
Complete the sentence. A server consolidation project that does not change the operating characteristics of the applications would require .

A. a complete ADM cycle

B. a complete re-architecting change

C. a full revision of the enterprise architecture
D. an incremental change

E. a simplification change

Answer: E

NEW QUESTION 55
Complete the sentence by selecting the applicable pair of words. According to TOGAF, a/an is used to describe the of a stakeholder.

A. activity model, perspective

B. viewpoint, requirements

C. view, concerns

D. Node Connectivity Diagram, interconnections
E. Architecture trade-off analysis, constraints

Answer: C

NEW QUESTION 60
Which of the following is a re-usable artifact that is used to create architecture models addressing stakeholder concerns?

A. Catalog
B. Matrix

C. Diagram
D. View

E. Viewpoint

Answer: E

NEW QUESTION 64

Complete the sentence. In the Preliminary Phase, all of the following are part of preparing the organization to undertake successful enterprise architecture, except .
A. defining architecture principles

B. defining relationships between management frameworks

C. defining the enterprise

D. evaluating the enterprise architecture maturity

E. identifying stakeholders and their concerns

Answer: E

NEW QUESTION 67
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Which of the following best describes the Integrated Information Infrastructure Reference Model?

A. It can be used to determine the capability level of an enterprise
B. It is a deliverable from Phase A

C. Itis an Application Architecture Reference Mode!

D. It provides a conceptual structure for architecture governance
E. It supports all the Common Systems Architectures

Answer: C

NEW QUESTION 69

In Phases B, C, and D which is the first step in each phase?
A. Conduct formal stakeholder review

B. Create Architecture Definition Document

C. Define Roadmap components

D. Perform gap analysis

E. Select reference models, viewpoints and tools

Answer: E

NEW QUESTION 72

According to TOGAF, Which of the following define general rules and guidelines for the use of assets across the enterprise?

A. Architecture principles

B. Business scenarios

C. Functional Requirements
D. Procurement policies

E. Stakeholder concerns

Answer: A

NEW QUESTION 76

When using a cycle of the ADM to establish an Architecture Capability as described in TOGAF Part VII, Which architecture would describe the infrastructure

requirements?

A. Application Architecture
B. Business Architecture
C. Data Architecture

D. Technology Architecture
E. Transition Architecture

Answer: D

NEW QUESTION 80

Which one of the following statements about TOGAF Building Blocks is true?

A. Building blocks at a functional level are known as Solutions Building Blocks

B. Solutions Building Blocks are selected in Phases A, B, C and D

C. The specification of a building block should be loosely coupled to its implementation

D. The gap analysis technique should be used to identify building blocks for re-use

Answer: C

NEW QUESTION 84

Complete the sentence. According to TOGAF, a view is used to describe how the of a stakeholder are being met.

A. concerns

B. constraints
C. interests

D. perspective
E. requirements

Answer: A

NEW QUESTION 88

Which of the following best describes the concept of Boundaryless Information Flow?

A. Enabling the vision of an integrated information infrastructure

B. Getting information to the right people at the right time in a secure, reliable and timely manner
C. Enabling effective global communications between countries

D. Enabling the flow of information to all stakeholders

E. Providing a visual representation of information provider, consumer and brokering applications

Answer: B

Your Partner of IT Exam

visit - https://www.exambible.com



We recommend you to try the PREMIUM OG0-091 Dumps From Exambible
exam blb|@ https://www.exambible.com/OG0-091-exam/ (294 Q&AS)

NEW QUESTION 92

Which of the following does TOGAF describe as "a formal description of a system, or a detailed plan of the system at component level to guide its

implementation"?

A. Architecture
B. Artifact

C. Deliverable
D. Model

E. View

Answer: A

NEW QUESTION 96

Which ADM phase establishes the connection between the architecture organization and the implementation organization through the Architecture Contract?

A. Phase E
B. Phase F
C. Phase G
D. Phase H
E. Requirements Management

Answer: C

NEW QUESTION 99

Which section of the TOGAF template for defining principles should highlight the requirements for carrying out the principle?

A. Implications
B. Name

C. Rationale
D. Statement

Answer: A
NEW QUESTION 100
Which of the following statements about TOGAF Building Blocks is true?

A. A good Building Block should not be composed of other Building Blocks
B. Architecture Building Blocks should be first selected in Phase D

C. Building Block specifications should be loosely coupled to implementation

D. Custom developments are known as Architecture Building Blocks

Answer: C

NEW QUESTION 102

Which of the following best describes an approach for adapting the ADM in the situation where business principles dictate that a packaged solution be used?

A. Completion of the Business Architecture should follow the Information Systems Architecture

B. Create an Architecture Vision and then a detailed Business Architecture

C. Produce a "cut-down" version of the ADM suitable to the resources available
D. Tailor the ADM in conjunction with another architecture framework that has deliverables specific to the vertical sector
E. Tailor the ADM to reflect the relationships with, and dependencies on other management processes within the organization

Answer: A

NEW QUESTION 107

Which model within TOGAF is intended to assist with the release management of the TOGAF specification?

A. The Capability Maturity Model

B. The Document Categorization Model

C. The Integrated Infrastructure Information Model

D. The Organizational Model for Enterprise Architecture
E. The Technical Reference Model

Answer: B

NEW QUESTION 112

Which of the following best describes how TOGAF defines an enterprise?
A. Any collection of organizations that has a common set of goals

B. Any corporation with more than 10,000 employees

C. Any organization involved in commerce

D. Any organization whose stock is traded

E. Any set of organizations based at the same geographic location

Answer: A
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NEW QUESTION 114
According to TOGAF, in which sequence should Application Architecture and Data Architecture be developed in Phase C?

A. Application Architecture should be developed first, then Data Architecture

B. Application Architecture should be developed concurrently with Data Architecture

C. Data Architecture should be developed first, then Application Architecture

D. Application Architecture and Data Architecture may be developed in either sequence

Answer: D

NEW QUESTION 118

Complete the sentence. The TOGAF risk categorization after the implementation of mitigating actions is known as the level of risk.

A. Critical

B. Initial

C. Intermediate
D. Residual

E. Unmitigated

Answer: D

NEW QUESTION 123
Complete the sentence. TOGAF covers the development of four architecture domains, Business, Data, Technology and .

A. Application
B. Capability
C. Segment
D. Transition
E. Vision

Answer: A

NEW QUESTION 125
Complete the sentence: Building Blocks that are viewed as being at the left-hand side of the Solutions Continuum are known as .

A. Common Systems Solutions

B. Foundation Solutions

C. Industry Solutions

D. Organization-Specific Solutions
E. Strategic Solutions

Answer: B

NEW QUESTION 127
Which one of the following best describes the purpose of ADM Phase E?

A. To define the initial implementation plans

B. To define the scope, identifying stakeholders and obtaining approvals
C. To develop the Technology Architecture

D. To manage requirements throughout the ADM

E. To perform architectural oversight for the implementation

Answer: A

NEW QUESTION 128
Which of the following best describes a purpose of the Business Scenarios technique?

A. To catch errors in a project architecture early

B. To guide decision making throughout the enterprise

C. To help identify and understand requirements

D. To highlight shortfalls between the baseline and target architectures
E. To mitigate risk when implementing an architecture project

Answer: C

NEW QUESTION 129

According to TOGAF, Which of the following best describes an Architecture Pattern?
A. A detailed description of the interfaces between building blocks

B. An implementation specific solution building block

C. A package of functionality defined to meet the business needs of the organization.
D. A way to put building blocks together into context

E. A work product describing an aspect of an architecture

Answer: D
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NEW QUESTION 133
In which section of the TOGAF template for Architecture Principles would a reader find the answer to the question of 'How does this affect me"?

A. Implications
B. Name

C. Rationale
D. Statement

Answer: A

NEW QUESTION 134
According to TOGAF, Which of the following steps in Phases B, C, and D occurs before development of the baseline or target architectures?

A. Conduct formal stakeholder review

B. Create Architecture Definition Document

C. Define Roadmap components

D. Perform gap analysis

E. Select reference models, viewpoints and tools

Answer: E

NEW QUESTION 139
Which section of the TOGAF template for Architecture Principles should highlight the business benefits for adhering to the principle?

A. Implications
B. Name

C. Rationale
D. Statement

Answer: C

NEW QUESTION 141
According to TOGAF, Which of the following is a characteristic of a Foundation Architecture?

A. It contains only solution building blocks

B. It contains business functions and processes specific to a particular industry sector

C. It contains building blocks and their corresponding standards

D. It includes a model of application components and application services software, including brokering applications
E. It includes models for common high-level business functions, such as supply chain management

Answer: C

NEW QUESTION 146
Which of the following is an objective of Phase B, Business Architecture?

A. To confirm the ability of the enterprise to undergo change

B. To demonstrate how stakeholder concerns are addressed in the Business Architecture
C. To develop a Target Technology Architecture to support the business

D. To finalize the Architecture Vision and Architecture Definition documents

E. To maximize the business value from the architecture

Answer: B

NEW QUESTION 151
In Phases B, C, and D which is the final step in each phase?

A. Conduct formal stakeholder review

B. Create Architecture Definition Document

C. Define Roadmap components

D. Perform gap analysis

E. Select reference models, viewpoints and tools

Answer: B

NEW QUESTION 153

What technique does TOGAF recommend for evaluating the status of an organization to undergo change?
A. Business Transformation Readiness Assessment

B. Business Value Assessment Technique

C. Capability-Based Planning

D. Communications and Stakeholder Management

E. Gap Analysis

Answer: A
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NEW QUESTION 157
According to TOGAF, Which of the following types of architecture has major characteristics that include open system standards and general building blocks?

A. Common Systems Architecture

B. Foundation Architecture

C. Industry Architecture

D. Organization-Specific Architecture

Answer: B

NEW QUESTION 162
In which part of the ADM cycle do building block gaps become associated with work packages that will address the gaps?

A. Preliminary Phase and Phase A
B. Phases B, C, and D

C. Phase E

D. Phase F

E. Phases G and H

Answer: C

NEW QUESTION 165
Complete the sentence. The Enterprise Continuum provides methods for classifying architecture artifacts as they evolve from

A. Foundation Architectures to re-usable architecture assets
B. generic architectures to Oganization-Specific Architectures
C. generic solutions to Industry Models

D. generic architectures to reusable Solution Building Blocks
E. Solutions Architectures to Solution Building Blocks

Answer: B

NEW QUESTION 166
Complete the sentence. The ADM can be viewed as the process of populating the enterprise's own with relevant re-usable building blocks taken from the more
generic side of the Enterprise Continuum.

A. Architecture Repository

B. Architecture Requirements

C. Implementation and Migration plan
D. Standards Information Base

E. Strategic Architecture

Answer: A

NEW QUESTION 170
Which of the following best describes the state of architecture artifacts as a project progresses through ADM Phases A to D?

A. The artifacts are transformed into solution architectures

B. The artifacts become increasingly product focused

C. The artifacts become increasingly generic and re-usable

D. The artifacts evolve from generic architectures to organization-specific architectures
E. The artifacts evolve from common systems architectures to foundation architectures

Answer: D

NEW QUESTION 171
Complete the sentence. TOGAF covers the development of four architecture domains, Application, Business, Data and .

A. Capability
B. Segment
C. Technology
D. Transition
E. Vision

Answer: C

NEW QUESTION 174

Which of the following best describes the class of information known as the Architecture Capability within the Architecture Repository?
A. A description of the organization specific architecture framework and method

B. A record of the governance activity across the enterprise

C. Guidelines and templates used to create new architectures

D. Processes to support governance of the Architecture Repository

E. Specifications to which architectures must conform

Answer: D
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NEW QUESTION 178

Which of the TOGAF architecture development phases is the first phase of an architecture development cycle, defines the scope for an engagement and identifies

the stakeholders?

A. Architecture Change Management
B. Architecture Vision

C. Business Architecture

D. Preliminary Phase

E. Technology Architecture

Answer: B

NEW QUESTION 179

In which of the following ADM Phases do building blocks become implementation-specific?
A. Phase A

B. Phase B

C. Phase C

D. Phase D

E. Phase E

Answer: E

NEW QUESTION 184

Complete the sentence: TOGAF provides a set of reference materials for establishing an architecture function within an organization known as the .

A. Architecture Capability Framework
B. Architecture Content Framework
C. Architecture Landscape

D. Architecture Repository

E. Architecture Roadmap

Answer: A

NEW QUESTION 185
Which of the following best completes the sentence? The Architecture Repository .

A. is used to store different classes of architectural output created by the ADM

B. is a categorisation mechanism for classifying architecture and solution artifacts

C. is a detailed model of architectural work products, including deliverables and artifacts
D. is an architecture of generic functions and services

E. is a set of resources to help establish an architecture capability within an organization

Answer: A

NEW QUESTION 186

Which ADM Phase includes obtaining approval for the Statement of Architecture Work?
A. Preliminary Phase

B. Phase A: Architecture Vision

C. Phase B: Business Architecture

D. Phase F: Migration Planning

E. Phase G: Implementation Governance

Answer: B

NEW QUESTION 191

According to TOGAF, Which of the following is the reason why Business Architecture is recommended to be first architecture developed?

A. It contains a high level description of the business strategy for the organization

B. It is the key document describing how the new architecture capability will meet the business goals
C. It provides prerequisite knowledge for undertaking work in the other architecture domains

D. It mobilizes operations to support the ongoing business architecture development

Answer: C

NEW QUESTION 192

According to TOGAF, Which of the following best describes the purpose of the Architecture Roadmap?
A. To ensure that architecture information is communicated to the right stakeholders at the right time
B. To evangelize the architecture to the end user community

C. To govern the architecture through to implementation

D. To keep the Architecture Review Board informed of changes to the architecture

E. To show progression of change from the Baseline Architecture to the Target Architecture

Answer:
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E

NEW QUESTION 197
Which one of the following categories from the Document Categorization model consists of the normative parts of TOGAF which are considered central to its
usage?

A. TOGAF Core

B. TOGAF Mandated

C. TOGAF Recommended
D. TOGAF Referenced

E. TOGAF Supporting

Answer: B

NEW QUESTION 200
Which one of the following is considered a relevant architecture resource in Phase D?

A. Generic application models relevant to the organization's industry sector
B. Generic business models relevant to the organization's industry sector
C. Generic data models relevant to the organization's industry sector

D. Generic technology models relevant to the organization's industry sector

Answer: D

NEW QUESTION 204

Which phase of the ADM establishes a set of Principles?
A. Preliminary Phase

B. Phase A

C. Phase D

D. Phase G

E. Phase H

Answer: A

NEW QUESTION 206
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